
BaumB= 11.00

H =1 2.00

BaumB= 4.0 0

H =8 .00

BaumB= 4.0 0

H =8 .00

BaumB= 4.0 0

H =8 .00

BaumB= 4.0 0

H =8 .00

BaumB= 4.0 0

H =8 .00

BaumB= 4.0 0

H =8 .00

BaumB= 4.0 0

H =8 .00

BaumB= 4.0 0

H =8 .00

Bu schB= 2.8 0

H =2 .80

Bu schB= 2.8 0

H =2 .80

Bu schB= 2.8 0

H =2 .80

Bu schB= 2.5 0

H =1 .70

Bu schB= 2.5 0

H =1 .70

Bu schB= 2.5 0

H =1 .70

Bu schB= 2.5 0

H =1 .70

Bu schB= 2.5 0

H =1 .70

Bu schB= 2.0 0

H =1 .00

Bu schB= 2.0 0

H =1 .00

Bu schB= 2.0 0

H =1 .00

Bu schB= 1.7 0

H =2 .00

Bu schB= 1.7 0

H =2 .00

Bu schB= 1.7 0

H =2 .00

Bu schB= 1.7 0

H =2 .00

Bu schB= 1.7 0

H =2 .00

Bu schB= 1.7 0

H =2 .00

Bu schB= 1.7 0

H =1 .10

Bu schB= 1.7 0

H =1 .10

Bu schB= 1.7 0

H =1 .10

Bu schB= 1.7 0

H =1 .10

Bu schB= 1.7 0

H =1 .10

Bu schB= 1.7 0

H =1 .10

Bu schB= 1.7 0

H =1 .10

M en sch

B= 0.8 5

H =1 .85

M en sch

B= 1.5 0

H =1 .78

M en sch

B= 0.8 5

H =1 .90

Men sch
B= 0.6 0
H =1 .80

B= 0.6 0
H =1 .80

Men sch
B= 0.6 0
H =1 .80

B= 0.6 0
H =1 .20

B= 1.2 0
H =1 .75

B= 0.5 0
H =0 .50

B= 1.0 0
H = 1.07

Grundstück 1

435 m ²

Grundstück 2

500 m ²

Grundstück 3

400 m ²

Grundstück 4

335 m ²

Haus 1

Haus 4

Haus 2

Haus 3

304/4
304/3

304

Herbert-Kneitz-Straße

Hopfengarten

BG  W irsberg 
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